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1. IMCHRS588 HIR/REE: S12510X32Ht| L7FE R Erouter id 10.72.1.9 /4138, 7ES12510X3%H
#EFTFFdebug ospf event errorFF3%, router-id e HEUI T :

*Oct 17 14:15:15:602 2016 H3C OSPF/7/DEBUG: -MDC=1;

OSPF 1 :OSPF received packet having conflicted Router ID :10.72.1.9.

*Oct 17 14:15:21:606 2016 H3C OSPF/7/DEBUG: -MDC=1;

OSPF 1 :OSPF received packet having conflicted Router ID :10.72.1.9.

2. IpospfbEREES, WEFIYIER,;

1. i@iddisplay ospf statistics error&sBospfiEE4tiH{SE, Router ID confusionfZ(EiEy, Bild L
RWSZIREER, METHERENN,; EEBRT, TEAAR DA EEE R Frouter-idf158
SHH, FAREEEouter-id/fRA =S osphEB St AYRouter ID confusionfFAELH I E ARG
mn, BENIERIENERE, S125xii SEibZEMospiE—E2RE, BEHREDER,

HIHRTIRRRE BRI, MSEE SR LMheloiRZESXIET ;) osphEIRGITHR

EERT:

IS =|
BeE

OSPF Process 1 with Router ID 10.72.1.9
OSPF Packet Error Statistics

1487  : Router ID confusion 0 : Bad packet

0 : Bad version 0 : Bad checksum

0 :Bad area ID 0 : Drop on unnumbered link
0 : Bad virtual link 0 : Bad authentication type

0 : Bad authentication key 0 : Packet too small

0 : Neighbor state low 0 : Transmit error

3 : Interface down 0 : Unknown neighbor

2. MIAKIERIdebug ospf packefEEE, B2S125xi&M10.73.1.177/10.73.1. 185X NRIPAT
SERIEIEO A HhelloiRXAT, HEEAIRTESE KR router-id/ PSR, BEMEMEOLHAYRS
ExBER, B EAREOLZRIRIABSHEEE—ENES, tLNEERNHIETNMREd, Him
RIS _ EIAT MEOFEFTIMER,; IiAdebugERINT:

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG
packets.

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG:

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG
224.0.0.5

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG
44.

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG
um: 58459.

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG
000000.

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG
nterval: 10, Option: _E_.

*Oct 17 14:15:45:601 2016 H3C OSPF/7/DEBUG:

10.73.1.177, BDR: 0.0.0.0.

:-MDC=1; OSPF 1: Sending

-MDC=1; Source address: 10.73.1.177

:-MDC=1; Destination address:

:-MDC=1; Version 2, Type: 1, Length:

:-MDC=1; Router: 10.72.1.9, Area: 0.0.0.0, Checks

:-MDC-=1; Authentication type: 00, Key(ASCII): 0 0

:-MDC=1; Network mask: 255.255.255.248, Hello i

-MDC=1; Router priority: 1, Dead Interval: 40, DR:
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*Oct 17 14:15:45:602 2016 H3C OSPF/7/DEBUG

:-MDC-=1;

OSPF 1 :OSPF received packet having conflicted Router ID :10.72.1.9.

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG
packets.

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG:

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG
224.0.0.5

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG
48.

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG
um: 52514.

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG
000000.

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG
nterval: 10, Option: _E_.

*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG:

10.73.1.98, BDR: 10.73.1.97.
*Oct 17 14:15:46:601 2016 H3C OSPF/7/DEBUG

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
packets.

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
10.73.1.185

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
224.0.0.5

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
44.

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
um: 58451.

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
000000.

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
nterval: 10, Option: _E_.

*Oct 17 14:16:01:601 2016 H3C OSPF/7/DEBUG
10.73.1.185, BDR: 0.0.0.0.

*Oct 17 14:16:01:602 2016 H3C OSPF/7/DEBUG

:-MDC=1; OSPF 1: Sending

-MDC=1; Source address: 10.73.1.97

:-MDC=1; Destination address:

:-MDC=1; Version 2, Type: 1, Length:

:-MDC=1; Router: 10.72.1.9, Area: 0.0.0.0, Checks

:-MDC=1; Authentication type: 00, Key(ASCII): 0 0

:-MDC-=1; Network mask: 255.255.255.248, Hello i

-MDC=1; Router priority: 1, Dead Interval: 40, DR:

:-MDC=1; Neighbor ID: 10.73.1.145.

:-MDC=1; OSPF 1: Sending

:-MDC=1; Source address:

:-MDC-=1; Destination address:

:-MDC=1; Version 2, Type: 1, Length:

:-MDC-=1; Router: 10.72.1.9, Area: 0.0.0.0, Checks

:-MDC=1; Authentication type: 00, Key(ASCII): 0 0

: -MDC=1; Network mask: 255.255.255.248, Hello i

:-MDC=1; Router priority: 1, Dead Interval: 40, DR:

:-MDC=1;

OSPF 1 :OSPF received packet having conflicted Router ID :10.72.1.9.

3.

1EEAshutdownk i) IR/ MNM PRI RZAIF N O R AY— MEOGigabitEthernet1/8/0/4, &% kr

outer-id)fZRHED LBk, IAXABI—MEOTRENLL, FBIH—STHEA T IHE MR
RUETEEM:; RIFHFE, S125X35Hat4 BIiEITG1/8/0/4EFG2/8/0/41£ 0551053854737 OSPF

B, G1/8/0/432FN1G2/8/0/4% ¥ h=2=0,

{BES125x3HHFNS 10552 BEE—a "2

BT KEE, EREBAAE_EBE, HimSEG1/8/0/4% HHhellofRSI M G2/8/0/4ZOUEI, &

2ok, PABIEE—EiRospf router-idihsg;

#

interface GigabitEthernet1/8/0/4

port link-mode route

ip address 10.73.1.177 255.255.255.248
pim sm

#

#

interface GigabitEthernet2/8/0/4

port link-mode route

ip address 10.73.1.185 255.255.255.248
pim sm

#
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1. OSPFAMFRIFESHIMOSPF Router IDERE/PEMIAE, HIAAMELAAESHERRIEES
Y, tBEERNBNISRESHISE ospf router-id/hF=ERIER, AIRILZERIAORTR, BIIUHIE
EHAMINS, R EASE, E—HTHELE,

2, HEINEZPEITES, #iNOSPF Router IDTEECEOSPF#HERT, MIFEEEEHEEAIRouter ID,
LEanE 1 IR — NRERVE A ospf router-idfsFE, FHm@idsERospf 1 router-id X.X.X.X #3$ 98— OSP
FIHTEF TIEEFRouter ID;

3. MREERHOSPFHEEEISEmEMRouter ID, —EEERFE FERBOSPFHZLUFIEDR
Router IDAE3Y; MNSRAEERrouter-idfERi#H1TospiHEESS, HIEHEIIrouter-id SEtR BTN
, Wihste—BFE, WENENERERospf router-idlliJospfitiz.
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